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Which of the following best describes edge policies?
 
 
A. Edge policies are similar to global I/O except that they are configured on the server,
reside on the Cisco Access Gateway, and can work even if the Cisco Access Gateway
loses network connectivity with the Cisco PAM server. 
B. Edge policies are similar to global I/O except that they get configured and executed on
the gateway. 
C. Edge policies are used to execute URLs to third-party systems. The gateway requires
connectivity with the server to work. 
D. Edge policies are similar to global I/O except that they get configured and executed on
the gateway, and edge policies are used to execute URLs to third-party systems. The
gateway requires connectivity with the server to work. 
 

Answer: A

 

 

Which of the following statements are true?
 
 
 
Eth1 has an IP address of 192.168.1.42, and it cannot be changed.
 
The Cisco Access Gateway can only store one firmware version at a time.
 
Two readers can be connected to a single Cisco Access Gateway.
 
 
Gateway inputs and outputs can be configured directly on the gateway, without the use of
the Cisco Physical Access Manager software. 
 
 
A. All of the statements are true. 
B. Only Statements 1 and 3 are true. 
C. Only Statements 2 and 4 are true. 
D. Statements 2, 3, and 4 are true. 
 

Answer: B
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The primary Cisco PAM Server in a high-availability deployment is licensed for 128
modules, Badge Designer, and EDI integration. Which license(s) needs to be configured for
the secondary Cisco PAM Server in this high-availability deployment?
 
 
A. No additional licenses are needed as long as the hardware and software versions are
identical between the primary and secondary Cisco PAM Servers. 
B. The secondary Cisco PAM Server needs the high-availability license only. 
C. The secondary Cisco PAM Server needs the high-availability license in addition to the
same feature licenses: 128 modules license, Badge Designer license, and EDI integration
license. 
D. None of the above—high availability is not currently available in Cisco PAM. 
 

Answer: B

 

 

Which of the following databases are supported by the EDI module to import credentials
(badge)?
 
 
A. MySQL, Oracle, Microsoft Active Directory, and SQL 
B. MySQL, Oracle, SAP, and SQL 
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C. MySQL, Oracle, and SQL 
D. MySQL, Informix, Oracle, SQL, and Microsoft Active Directory 
 

Answer: C

 

 

When a 24 VDC fail safe lock is being used to secure a door, how should power be
supplied to the lock from the control source?
 
 
A. connected +24 VDC directly to the lock 
B. connected +24 VDC through common and normally close 
C. connected +24 VDC through common and normally open 
D. connected +5 VDC binary control signaling 
 

Answer: B

 

 

What are the three common methods that are used for authentication with an access
control system?
 
 
A. badge card, key fob, and keypad PIN 
B. badge card, keypad PIN, and password 
C. something you know, something you have, and something you are 
D. something you know, something you have, and something you did 
 

Answer: C

 

 

How many licenses are included with Cisco PAM, and how are licenses allocated?
 
 
A. Cisco PAM does not come with any licenses. Licenses are allocated for every logical
door. 
B. Cisco PAM comes with 1 license. It is allocated for the admin user. 
C. Cisco PAM comes with 32 licenses. Each module requires 1 license. 

Question No : 6

Question No : 7

Question No : 8

Cisco 648-247 : Practice Test

Pass Your Certification With Marks4sure Guarantee 4



D. Cisco PAM comes with 64 licenses. Only gateways require licenses. 
 

Answer: C

 

 

Assume a single badge entry in Cisco PAM for each user. For a single user, which two of
the following statements are true regarding Cisco PAM, proximity card readers, and
keypads? (Choose two.)
 
 
A. Keypads are not supported. Cisco PAM will work with Wiegand card readers only. 
B. Cisco PAM can be used with Wiegand proximity card readers with integrated keypads. 
C. Cisco PAM can be used with Wiegand proximity card readers only or Wiegand keypads
only. 
D. Cisco PAM can be used with both Wiegand proximity card readers and Wiegand
keypads. 
E. Cisco PAM can use non-Wiegand keypads. 
 

Answer: B,C

 

 

Which devices does Cisco manufacture and sell?
 
 
A. readers, locks, and door position switches 
B. locks, doors, and door hardware 
C. cards, card printers, and readers 
D. Cisco does not manufacture or sell readers, locks, door hardware, or card printers 
 

Answer: D
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